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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. QU 9L 370 U9 U 9 A e ford |

Candidate must write first of all his/her Roll No. on the question
paper compulsorily.

2. W U Y A €

All the questions are compulsory.

3. U WY I I A e IW-Yfdan | & ford |
Write the answer to each question in the given answer-book only.

4, 59 9w | oI @UE €, 39 G % ST Uk 919 &l ford |

For questions having more than one part the answers to those parts
are to be written together in continuity.

5. U YA % Bl 9 UST ®URR H fRE YR @ Jfe / R / TRt gH
R st AT o 9o ST WEl " |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.
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Gug Uy W 3% TAE U9 I H I/ gD |

A 1-10 1 20 ¥

) 11-18 2 Y IS

q 19-27 4 Ush g3

T 28-30 6 = I

Section Q. Nos. Marks per Word/Page limit

question of answer

A 1-10 1 20 words

B 11-18 2 Half page

C 19-27 4 One page

D 28-30 6 Three pages

7. U hHI% 28 ¥ 30 H IMIRH fohed ¢ |
Question Nos. 28 to 30 have internal choices.

gug - A

Section - A

1. ‘ydy gl g1 W S |

"Management is all pervasive." Explain. 1
2. “fHIISH U AEEE s g1 R 2

"Planning is a mental exercise." How ? 1

3. 9RdE wfayfa we fafma aig (I i awries e 0 st s fgar w2

When was the Securities and Exchange Board of India (SEBI) given a

statutory status ? 1
4. “Iuther gemTeAs Tate €17 e ?

"Entrepreneurship is a creative activity." How ? 1
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10.

11.

12.

3
IR et | T 3= v Tohal Srar € 2

How is 'Motion Study' done in scientific management ? 1

HHANET o T8 H ‘Tl Ten’ | TR T D |

Explain the meaning of 'Intelligence test' in selection of employees. 1
forqur o & H IR |19 % I &Y’ o A Ry |

Mention the names of any two gauge performance standards in
marketing area. 1

e e 9 i g ?

"Coordination is a deliberate function." How ? 1

‘TS THT I S dTelt UERaT 21 SHEEy |

"Planning is a time consuming process." Clarify. 1

&R TRl §RT Afquifsd STRmE’ & ogT &l T Hife |
Explain the principle of 'Discipline' propounded by Henri Fayol. 1
gue -

Section - B

Teh Ua9eh oh T H [ASeh{0T & 0T SFedd H & 1@ TINeIdHl i Sdmey |

As a manager mention the changes taking place in business due to
privatisation. 2

fAf¥TEIehoT o STMER W HTTcHS TS U THIT e | 3= ey |

Mention the difference between functional structure and divisional
structure on the basis of specialisation. 2
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13. AT faerr ® Hererdn favetsor & 9ge] i 91 §RT MR hitelt |

Show with the help of a chart the aspects of feasibility analysis in

entrepreneurship development.

14. Y¥TeTOT o Tt H g g7 R TaEy |

Mention any two differences between training and development.

15. 3fio=iies TRV o 0 o3 Bl 91 §RT URIST iy

2

2

i) EED

iy foem v

Show the following networks of formal communication through a
chart :

i) Wheel

ii) Inverted V.

16. TH STH & ®9 § fafm geri & g & o e e arRE W

w4

As an entrepreneur how will you contribute in developing exchange

relationship ?

17. SAEEIEh ShA1eT U Sk YATeROT o AT hi T ohileTd |

Explain the effect of economic environment on business activities.

18. foeRoT & ‘[ WRIF HTeAY’ i AE §RT UGHITT it |

Show with the help of a chart 'zero level channel' of distribution.
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19.

20.

21.

22.

23.

24.

25.

5

gug - 9

Section - C

] T o ITEI0T aRerdl 3FH | SdTey |

Mention the examples of current assets in order of liquidity. 4
IUHRAT TE0T FIH & 3Fid foag (HaRoT TSl & &9 § T[T FHEH'
t gfFeT St THET |

Explain the role of 'National Commission' as a redressal agency under
the Consumer Protection Act. 4

T o ‘GTHITSTeh 329’ i T iy |

Explain the 'social objective' of management. 4

&R AT Sl WU ST Sl T HireT |

Explain Henri Fayol's scalar chain. 4
fi=oT & ‘OReAdT STUId’ Ud ‘MY AT U’ i el &t SIEI0N gR1 W
I |

Explain 'Liquidity ratio' and 'Solvency ratio' in control through any two

examples. 4

“SEOT-GHAT ST’ St TUMT T THR Y ST § 2

How is the 'debt-equity ratio' calculated ? 4
Ueh Ueuh o &9 § T4 UfshaT % Hecoqol &t =0T i Sared |

As a manager mention two important steps in the process of selection.

4
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26.

27.

28.

29.

T o GRATHE Hd AT |

Mention protective functions of SEBI. 4

fraem 7 ‘ufsranr’ =1 e i
Explain 'Procedure' in planning. 4
gug - ¢
Section - D

T Ga¥eh o ®©F § [hdl A6 399 9 foeh=s o0l & Hecel ol THEALT |

ST

Th YeU®h & ®7 H [hdl AE@gs ST9 o PR R0l & Hecd ol
HHSATRU |

As a manager explain the importance of decentralisation in a business

enterprise. 6

OR

As a manager explain the importance of delegation in a business
enterprise. 6

fsem & wdaeTr & Ao & fhEl @ faget it T S|
SEE
TS | YHTET HUSUT i Hich{deh SE13T I T HifT |
Explain any six points of importance of supervision in direction. 6

OR

Explain the semantic barriers of effective communication in

organisation. 6
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30. fooue =t foreisanatt s gu ity |

ERE))

{9 & fohel ©: ST I G0 oW |

Describe the features of marketing. 6
OR
Describe any six functions of marketing. 6
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